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| 1 gl Fv bEf: 3430  OUT IN #OR HDCP Xxv b f#i= !
528 AT BEEK 4 39 83 0.0 830
57 &4 (5t 41 43 84 0.0 840
29  we EA 42 45 87 0.0 87.0
99 mE EH A7 42 89 0.0 8.0
| of1 mg® Ty b 3460 OUT IN B HDCP kv b f@E
605 bk E#if 41 43 84 0.0 840
144 EH A 39 46 85 0.0 850
34 KHE HE% 42 46 88 0.0 880
120 # ME 45 44 89 0.0 8.0
| M K Fw bE: 3500  OUT IN ¥BOR HICP ®v b f#Z
179 B ki 38 41 79 0.0 790
183 #iiE EiE 40 48 88 0.0 880
24 Ei BE 41 49 90 0.0 900
155 ki 2 44 49 93 0.0 930
| 4 BH v hEt: 3540  OUT IN O HDCP Xy bk fiiZ |
550 @R = 4 42 8 0.0 830
521 BRI K 41 43 84 0.0 840
708 EX 42 46 44 90 0.0 900
513 4ME 185 45 52 97 0.0 97.0
| 5fI @b Fw B 356.0  OUT IN #OR HDCP ®v bk (@
703 R A% 39 40 79 0.0 790
184 fhA A 42 43 8 0.0 850
49 A R 42 45 87 0.0 870
82 X& 46 59 105 0.0 1050
| 6 KE Fv hE: 3580  OUT IN £#OR HDCP Ry b f§E
62 B mE 4 41 8 0.0 850
604 P& EE 43 42 85 0.0 850
4 FER 50 44 94 0.0 940
611 =)l 28 4 53 94 0.0 940
| 7 mEEER Fwv BhEF: 3620  OUT IN #BX HDCP Xy b =
505 Ef IF 37 40 77 0.0 770
722 HO 4 4 8 0.0 820
702 R R 4 57 1001 0.0 101.0
613 WS #HiE 54 48 102 0.0 1020
| 8 KEGT Fv hEF: 3640  OUT IN FOR HDCP *v b fii®
725 R BE 38 43 81 00 810
700 EEAE E 41 45 8 0.0 860
41 EBEHE 5 39 90 0.0 90.0
133 4ER ms 56 51 107 0.0 107.0
T Fv bEt: 3640  OUT IN #BR HDCP Xy bk fZ |
130 #a 18 39 48 8 0.0 87.0
19 ¥iE HKE 44 45 89 0.0 8.0
514 LA B 47 43 90 0.0 90.0
525 X JTE 48 50 98 0.0 980
| 1061 k% Fy bt 3710 0UT IN FBEXR HDCP *v b i
527  S53E B 38 42 80 0.0 800
135 MO i 45 48 93 0.0 930
64 M= B= 48 47 9% 0.0 950
10 =i & 4 57 103 0.0 103.0
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BCETS Fv bEF: 3740  OUT IN O HCP Ry b {#Z |
14 %R 3B 38 47 85 0.0 850
122 BT NE) 49 44 93 0.0 930
125 3R =% 50 46 96 0.0 96.0
531 I 12 52 48 100 0.0 100.0
[ 126 HER Fy B 3750 OUT IN /AR HOCP Xxv b f§= e
137 BB BX 41 49 90 0.0 90.0
540 #21L EE 46 48 94 0.0 940
4 ZRBEE 48 47 95 0.0 950
76 il mE 45 51 9% 0.0 960
| 136 EABH Ry bE: 3760 OUT IN #OX HDCP & w b fE
17 BEE LR 42 46 88 0.0 880
97 BT EE 5 38 89 0.0 89.0
147 WA &S 46 53 99 0.0 99.0
718 Rl @ 52 48 100 0.0 100.0
|14 e Fy bE: 3780  OUT IN #BX HDCP Xv b fi=
149 BES #% 42 45 87 0.0 87.0
44 BRE BB 43 49 92 0.0 920
102 BER HA 48 51 99 0.0 990
12 B B= 44 56 100 0.0 100.0
| 1561 AENT S bR 390.0 0T IN ZBR HDCP Rw b i
95 LR 1= 38 40 78 0.0 780
129 =4 HA 46 50 9 0.0 960
9 B BK 52 47 99 0.0 99.0
50 [iE EE 59 58 117 0.0 117.0
| 16f HEM Fv bEt: 3920 OUT IN ZBAX HDCP Fw b ffE
730 =i EE 45 43 8 0.0 880
180 A#% % 45 51 9% 0.0 960
610 SR {5— 52 47 99 0.0 990
33 FR Z—H 53 56 109 0.0 109.0
| 17 s Fv BB 3940  OUT IN #OR HDCP & v b f#Z
502 A4 JEAER 2 5 92 00 920
T4 $E K— 47 49 9% 0.0 960
20 BEE B 52 47 99 0.0 99.0
28 i BB 53 54 107 0.0 107.0
| 186 PR Fw BB 3950 OUT IN #BR HDCP Sy b fiZ
537 EME & 52 44 9% 0.0 96.0
107 FH B 50 46 9 0.0 960
174 EE 8k 46 52 98 0.0 980
173 BHX #— 50 55 105 0.0 1050
| 1961 #hib Fw BB 4100 OUT IN £OR HDCP &y b f
167 S BEA 46 48 94 0.0 940
548 EE B 47 51 98 0.0 980
139 &% = 53 56 109 0.0 109.0
134 BEES Rt 52 57 109 0.0 109.0
| 2061 FiB Fy bBE: 4120 0T IN Z/'OX HDCP %v b {iiZ |
165 L BRi# 44 43 87 0.0 87.0
545  RBLLA A0 43 46 89 0.0 89.0
118 SE =g 5 66 117 0.0 117.0
601 =i soA 62 57 119 0.0 119.0
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BLAR—I: FHh U= 5T
| 216 %o Fy bR 4210 0T IN ZOX HCP *v b (W= |
524 iR ESE 43 40 83 0.0 830
54 R B 51 54 105 0.0 1050
T ORE B 48 62 110 0.0 110.0
607 #EF FE 61 62 123 0.0 123.0
| 1 &M v hEt: T IN #OR HIGP Fv b |
i &/ v Mt T IN #BR HICP *v bk MW & |




